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EXEMPLAR QUESTIONS

This memorandum consists of 7 pages.

General marking notes:

1. Give full marks for answers only, unless otherwise stated.

2. Accept any alternative correct method that is not included in the memorandum
unless otherwise stated.
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3.2 |3.21 |49 eighteen 1
322 |55 seventy-four 1
63 fifty five S
3.2.3
. 1
324 |74 forty-nine
1
3.25 |18 sixty three
3.3.1 101v 1
3.3.2 100v 1 3
333 110v 1
4, forty seven/forty-seven v/ 1 1
(do not penalize for incorrect spelling)
5.1 Half past one / 1:30v 1
5.2 2
4
v
5.3 8v 1
6.1 CVv 1
Do not accept 1 quarter.
Question asks to circle the letter of the answer.
6.2 2V 1 half / one half v/ 1 4
6.3 2
v v
7.1 162, 152, 131, 129, 117v 1 4
7.2.1 90, 95, 105, 100, 110 v 1
7.2.2 5, 15, 51, 105, 115 v 1
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7.3 Bv 1
Do not accept 80; 64; 40; 21; 12
Question asks to circle the letter of the answer.
8.1 AV 1 6
Do not accept 28.
Question asks to circle the letter of the answer.
8.2.1 2+2V
8.2.2 4+4+4V
8.23 10 +10= 46 v/ 1
8.2.4 6+6=37v 1
8.3 9v 1
9.1 1
slide. roll.v’
9.2 1
v 4
9.3 2
Objects that can roll | Objects that can slide
accept any suitable accept any suitable
object that can roll. v | object that can slide. v/
10.1 1
-
10.2 2
4
v v
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- Expected Answer
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v
1111 57; 54; 51v 1 4
11.1.2 153;157; 161 v 1
11.2.1 164; 166; 172V 1
11.2.2 158; 161; 167 v 1
12.1 80 or eighty v 1 3
12.2.1 70 or seventy v/ 1
12.2.2 3 or three v/ 1
13.1.1 58 v 1 12
13.1.2 14 and a half v/ 1
13.2.1 12v;8v;6 v 3
13.2.2 36v;20v; 28 v 3
13.3.1 12v' = 6+6 v (acceptany combination) 2
13.3.2 16 v' = 8 + 8 v (accept any combination) 2
14.1 is smaller than v/ 1 6
14.2.1 >V 1
14.2.2 =v 1
14.2.3 <v 1
14.3.1 <V 1
14.3.2 <v 1
15.1.1 15 v 1
15.1.2 21V 1
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cars 3 5 6v 9 1
1
wheels 12v 20 24 | 36V 1 7
15.3.1 10 v 1
15.3.2 40 v 1
16.1 +v 1
16.2 1 2
v
17.1 1
v
17.2
ltem Weight S
Salt 1kg v 1
Rice 2kg v 1
Sugar 5kg v 1
17.3 heavier v/ 1
18.1 36-4—»32-4—» 28- 4—»24- 4—>» 20- 4—>16-4
12-4—»8-4 —»4-4» 0
9 packets v can be filled and no v" apples will remain. 1
1
1 mark for any method and 1 mark for answer.
4
18.2 38-4—>»34- 4— 30- 4—>»26- 4— 22- 4—>18-4
14- 4 —>»10- 4—>»6-4—» 2
1
9 packets v and 2 remainv’ 1
1 mark for any method and 1 mark for answer
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19.1 12 v 1 2
19.2 12 v 1
20.1 Change = R20- (R12+R4) or R20-R12-R4 1
=R20-R16 v =R8-R4 1
=R4 VvV = R4
20.2 v 1
R20+R4 =5V 1
or 6
R20 - R4=R16 —R4=R12-R4=R8-R4=R4-v R4=0
5 ice creams v/
20.3 R12 + R12=R24 v 1
R24 - R20=R4 1
She is R4 short v
21.1 5v 1
21.2 five v/ 1 4
21.3 4v and 1 v 2
22.1 v v 1
4+4+4+4+4+4+4+4+4=36 1
Or
9x4 =36
1 mark for any method and 1 mark for answer
22.2 v v 4
9x4 =36 1
Or 1
9+9+9+9=36
1 mark for any method and 1 mark for answer
23.1.1 Peterv’ 1
23.1.2 13v 1
23.2.1 6v 1
23.2.2 4v 1
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23.2.3 5v 1
23.2.4 3v 1
23.2.5
— 10
v
v
Number v
of
boys
Y
Sport | Drama | Religion | News
TV-PROGRAM
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